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@ &N G R ) 6P EEL:P 6P GEL:P
aRER =23 950 50 15 15 0 0 0 900 55 43
ooy &ith 20 0 0 0 0 0 0 20 20 185
gayxy =i 2,910 840 180 119 0 0 0 2,130 300 193
Y BRE— BERER 2,820 3,780 40 19 800 0 47 16,240 8 40
L—RI57— =R 5,460 60 8 a0 460 120 65 4,940 110 57
Fa—)v7 IR 71,020 12,510 Q0 56 19,750 19 52 44,760 220 7
21)—=7 PN 14,790 150 55 51 0 0 0 14,640 0 58
TAIR NG 6,510 1,630 0 37 0 0 0 4,880 130 48
i\ (11 =R 10,833 2,348 40 16 0 0 0 8,48 110 53
G55 R BERER 7,990 0 0 0 950 130 115 7,040 170 129
B]=E3 BHRs 1,520 550 3% 27 0 0 0 970 75 47
ZOMDURE Rith 168, 872 28,080 1,600 36 2,790 7,450 49 138, 002 3,200 68
UETIL fEs 3,82 T8 550 2N 0 550 0 3,108 1,200 356
ToIo7L Rith 49,145 18,190 76 21 10~ 65 81 30, 965 500 40
[ L2 &ith 6,198 128 8% 284 0 0 0 6,070 1,200 545
VRO IN Rith 17,506 3,008 210 59 510 310 116 13,988 650 101
ZOMOE Rith 5917 1,998 230 T 0 0 0 3,919 450 142
JA4ILE F Rith 5, 791 1,23 150 59 0 0 0 4,556 700 97
TR EEI=TI=Y 1, 666 420 174 17 0 0 0 1, 246 4,500 159
i <) £) @GP GEL:P @GP EEL:P P EEL:P
TR Rith 9,806 510 220 113 230 1,300 A3 9,066 2,000 78
] @ @ G- G P Civa o NG A ) G- G P
¥E Rith 2,200 550 45 3% 0 0 0 1,650 50 37
€3] =R 6P EEL:/P @GP EER:P @GP EEL:P
¥ tE Hk 1l 4,485 1,065 362 162 0 0 0 3,430 1,000 219
T=E &ith 23,101 4, 621 7,000 43 6 8,500 7,983 18,474 14,500 49
& 21 =3 1,242 2% 2,000 480 74 3,000 549 1,143 7,500 294
_ @ &) G- G G P G M G- G
=i Z=R8 4,190 2,000 855 66 0 0 0 2,190 400 0
ZTEY R 11,080 4,030 260 86 0 0 0 7,050 350 146



K2A210R> PAE 3

| | . | | X4 1B E (BEE ) P9 B

; SE& IEH HPME # Y | BRG] RIBEGRRO FEHE|

| | | C EPME % @ h {5 HeE B B HE & M i

| | o R emm @ R @ @D e
B4 Eofthn) &ith 79,193 9, 286 2,200 % 6,274 750 123 63,633 4,500 86
L—o7y it 21,429 5,600 12 10 66- 17 b 21,8% 60 2%
TLUY AR 8,550 0 0 0 400 & 57 8,150 110 2
Y EDitn) &ith 99,160 10,830 460 24 750 150 90 87,530 100 A4
©HE & 2,316,511 478,196 0 0 271,321 0 0 1,621,064 0 0
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HLT G FIR # 18 @ 18 (%%IOF:D @%éoﬁ 0 (ﬂﬁ(:)F':I) (ﬂﬁ(z)F‘:D 0 i :OF:D i :OIID
I7L/ @D RENR 865 oA 15,000 3,524 40 13,500 6,8%4 281 26,000 6, 665
D =7 7)) —=E=R 91 I8 4,500 1,3% 1 3,900 1,190 13 4,500 3,038
T RO G el LR 192 152 2,000 483 0 0 0 40 1,300 823
B —=E=R 2,388 8% 5,500 382 3% 7,000 1,363 1,168 1,500 645
HIRT EREE IR 976 928 3,360 169 238 6,800 3 210 6,000 213
= G b 37 12 2,700 1,215 24 480 480 1 3,800 3,800
. 2R R 332 196 2,900 409 0 0 0 136 760 448
TOMAERE GM  1EHR 1,112 536 3,500 326 312 3,000 649 04 3,300 428
HLLY G R 8 24 180 180 0 0 0 64 20 26
INT G ISR 281 200 m m ) 950 950 36 200 200
TONEHE R 2,686 1,19 1,290 310 483 2,300 3/ 1,004 2,300 312
OSAY IRERIR 520 319 1,200 21 0 0 0 14 1,300 21
TOMEMREE Gy =FR 3,082 309 900 173 2,406 400 182 317 380 212

Fa)y7 EN=I 2 292 1,410 33% 0 0 0 429 3,000 22
TOMEEE G #HAR 140 140 0 0 0 0 0 0 0 0

7 LI RRR 5,167 4,214 320 61 66- 126 & 1,600 20 93
= IR 433 285 800 352 8 1,100 392 0 1,100 679
Y =EE 11,665 6,993 144 3b 9% 185 200 4,976 180 65
TOMDEIA  #RR 250 250 16 16 0 0 0 0 0 0
G =D 31,590 16,839 0 0 4,062 0 0 10, 699 0 0



K2A210R> PAE 1

I I I | I WEARLLE R

o mEE ETE® s ¥ Y | 1BE | CHIOBEBIERG RS

| | | WUE & @B v W GUMR B 4 @ MR @ ¢

| | | | | | | | |
# % AR Poen oo il O T T A 20 e
AT IR 141, 250 29,910 % 18 33,080 % o1 18,200 100 42
N AR 136, 660 38,510 ) 8 33, %40 & 2 64,210 140 2

Bty IR 10,170 2,490 120 b 420 125 % 1,260 150 8
AN IR 48, 203 9, 446 150 62 19 400 172- 38,633 230 81
T RIL—3= EIR 18, 891 3,705 180 T oA 100 66 14, 652 400 &
=3y =i 104,050 24,925 60 24 1,926 0 4 771,200 %0 36
—— RTL— Bty 44,835 8,8% % 2% 3,000 &0 o7 33,000 & 40
AUVIAIHBE ERIR 29,425 1,900 4 128 90~ 20 12 21,955 1,100 192
e FERER 6, 660 1,20 &0 % 200 130 116 5210 190 8
BLES EHIR 3,960 100 20 & 0 10 0 3,460 120 89
TOMDES EHIR 265 40 180 145 0 0 0 225 230 159
TLAOA)T7 RER 23,05 3,510 190 69 2,58 150 20 16,920 20 I
BRNAS HERLR 29,863 2,975 150 87 100 0 0 26, 788 300 63
MLAEE EHIR 18, 205 310 225 157 490 330 238 17,345 450 206
ARI—FA FERLE 61, 560 6,310 100 36 25,750 65 18 29,500 500 39
Abvy KR 38,425 6,490 100 53 400 110 o1 31,53 150 68
S FfER 49,012 1,860 66 2 6,150 100 39 35, 002 120 3
ho— IR 3,015 380 130 s &0 130 %8 2,556 20 8
<Ly b FHIE 4,450 1,300 ) 40 0 0 0 3,150 100 48
AA—hrE— =1 114,667 32,380 21 21 2,50 65 3 19,761 400 3B
TARZ— R 1,680 100 0 0 0 100 0 1,580 100 0
37 LR 3,190 0 0 0 0 37 0 3,190 220 66
TLS it 1,500 630 90 2% 0 0 0 810 80 4
)7 =1 6,42 1,557 14 8 0 0 0 4, 865 300 158
TIVIA =L FIR 5, A7 200 165 121 0 0 0 5, A1 280 126
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@y @y G- G/ G- &/ G P &/
ORXER b=y L= 150 0 0 0 0 0 0 150 0 40
gayAy =311 2410 850 210 115 0 0 0 1,560 320 161
V) ERA— EEREE 12,590 300 40 26 0 0 0 12,290 80 39
L—RI75— TF=EE 4,070 880 ] 4] 0 0 0 3,190 120 5
Fa—)vF S1IES 48,990 11,655 189 45 5,350 0 58 31,985 250 67
2V)—=7 KT 11,025 1,300 56 46 0 0 0 9,75 i) 5
TAIR KT 4,300 760 81 48 0 0 0 3,540 130 49
7K A HE 6, 752 250 40 3? 0 0 0 6, 502 110 4]
9SSR EEREE 4130 50 60 60 750 140 123 3,330 170 130
FIEEE EEE 1,480 300 3b 25 0 R 0 1,180 0 4
ZDIDIRHE Rith 108, 591 29,639 1,410 21 1,470 250 39 71,482 2 300 63
T EEI=TI=Y 2124 652 500 202 0 250 0 1,472 750 325
FI7L Rith 36,950 11,360 40 20 600 R 23 24,990 200 B
[3 5] Rith 4220 31 600 381 0 525 0 3,909 1,400 501
I ith 13,425 3,000 210 48 40 350 255 10,315 260 98
ZOMhIREE ith 3 5% 1,175 190 46 16 250 119 2 403 600 116
JAILE F Rith 2 453 467 210 8 1- 100 9 1,997 890 119
Piti==7)] fEE 1,290 475 183 12 0 0 0 815 200 138
i <) <) G G G GH: P G G
FillkE Fih 10,170 3,010 230 62 150 220 220 7010 700 9
) @ 6P EEL:P G o N A ) 6P EER:/P
Y¥E R 3,700 750 30 28 50 40 420- 2900 106 60
R G G/ G G/ P G/
ok 48 3,752 670 340 174 70 300 228 3,012 1,100 210
™= Rith 21,450 7 643 5,520 R 0 36 0 13,807 5,000 31
& i = 1,244 190 165 108 300 3,000 245 754 4 250 322
i @ @y GE:P &/ G- &/ i) &M
SEHE =RE 585 0 0 0 0 0 0 585 320 269
_TFEY R 5,500 1,580 220 139 0 0 0 3,920 280 109
B Fothm) ith 49, 921 9,745 1,000 45 1,997 760 74 38,179 1,750 73
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L ' ' @ Co® @mp eP @) @) o
Lr—o7y it 22,63 8,200 18 6 0 2 0 14,435 90 24
V2 A % R 6, 240 100 40 30 400 IS 60 5,740 110 2%
Y EDtn) &ith 47, 565 13,940 480 19 1,206 20 49 32,420 100 39
©HE & 1,49, 516 317,125 0 0 191,130 0 0 987, 261 0 0
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% FHIR Fom  Bao T P 77 B A me o g
AT IR 210,409 63,990 0 19 43,000 100 4 103,419 110 42
N AR 188, 8%4 60,120 ) 8 30, 924 100 31 97,8%0 140 21

Bty IR 19,175 6,475 100 46 680 120 &4 12,020 170 8
AN IR 60,971 8 144 180 60 0 200 0 92,221 20 8
T RIL—3= EIR 2,047 4,30 m 67 940 20 16 15,187 400 84
=3y =i 154, 583 44,215 20 2 5,700 IS 4 104,673 145 3B
—— RTL— Bty 84,710 23,465 65 24 2,550 &0 46 98, 755 & 38
AUVIAIHBE ERIR 43,413 10,03 472 147 430 205 115 33,008 1,100 26
e =31 2,80 0 0 0 0 0 0 2,80 220 151
BLES BER 5,450 350 100 69 200 10 20 4,900 130 9
TOMDES EHIR 461 80 20 137 0 0 0 387 400 173
TLAROA)T7  EHR 42,7780 13,740 138 0 4,450 210 92 24,590 180 84
BRNAS HERLR 41,540 4, 6% 162 n 100 90 90 36, 745 20 63
MLAEE EHIR 32,603 2,683 3% 153 1,020 240 163 28,900 400 225
ARI—FA HERLR 102, 050 34,18 280 24 3,010 65 A 64, 79 600 30
Abvy KR 95, 585 13,040 109 %8 0 52 0 42,545 150 0
S FfER 68, 225 8,10 2 2% 6, 250 0 39 53,810 130 32
ho— it 5,615 980 IS 60 0 0 0 5,035 2600 109
<Ly b FHIE 5,440 2,060 90 39 0 0 0 3,380 IS 3
AA—hrE— =1 191,739 31,250 120 18 6, 550 0 %8 153,939 300 4
TARZ— AR 330 0 0 0 100 100 100 20 180 13
37 FERLR 12,520 4,250 97 31 100 90 90 8110 230 59
TLS =i 2,940 1,400 90 2 0 0 0 1,540 80 4
)7 =1 1,671 1,50 200 103 65 280 266 6,042 300 149
TIVIA =L FIR 8,402 1,190 150 62 0 0 0 1,212 300 127
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@y @y G- G/ G G/ BB &/
ORXER =58 2 400 0 0 0 200- 45 45 2 600 60 4
gayAy =311 3230 810 1M IS) 0 300 326 2390 400 233
V) ERA— F =g L= 4, 000 0 0 0 0 0 0 4 000 0 4
L—RI75— TF=EE 5,700 780 55 3b 1,590 80 51 3,330 125 5
Fa—1)vS Hag 75, 803 26,590 8 41 6, 863 1,000 41 42 350 200 67
2V)—=7 KT 16,335 5,760 50 37 1,700 70 49 8,85 80 5
TAIR KT 6, 555 2110 70 3b 0 0 0 4 45 130 46
7K A EHEE 2 480 200 0 25 0 0 0 2280 120 60
9SSR g 2 440 0 0 0 0 0 0 2 440 170 139
B SE3 EEE 1,410 510 3b 25 0 0 0 840 80 5
ZDIDIRHE Rith 162, 340 43,283 1,290 3? 4110 1,600 15 114, A7 7,000 0
T EEI=TI=Y 4 640 2 010 440 17 0 0 0 2510 1,000 316
FI7L Rith 43,605 13,180 198 2 2 300 50 3? 28,15 400 32
[3 5] Rith 8,008 2176 666 238 0 0 0 5,832 1,200 562
I ith 24,70 9,170 20 59 780 400 103 14,710 550 103
&R &R G &/ G G/ BB G/
ZOMhIREE i 4 911 2 M7 210 5] 5 300 300 2 469 500 151
. @ G Gh M G G G G
JAM4JLE F Rith 8 416 1,734 320 78 0 0 0 6, 682 1,200 14
Piti==7)] fEE 1,719 440 100 70 330 180 156 949 4 500 142
i £) £ ) G GG/ G- G/ G- GG/
FillkE ith 13,930 35 1,000 157 1,080 1,300 220 12,525 8,500 &
@y @y G- P G/ G G/ G P &/
Y¥E ith 3,269 1,900 25 19 0 40 0 1,369 106 40
R G &/ G- G/ GhH:P G/
P oH ok L8 10,384 2 450 520 /A 2700 140 124 5 234 1,600 179
™= Rith 26, 931 8 162 500 28 6 8 500 7133 18,763 13,500 46
& i = 1,237 58 2 000 164 50 220 220 1,129 5, 500 241
_ @ &) G- P G M G P G M G G
SEHE Z=RE 3,526 1, 366 180 84 0 0 0 2 160 1,000 9%
_TFY R 10,932 3212 250 74 0 0 0 7720 350 156
B Fothm) i 77,913 11,252 1,500 4 5230 1,400 106 61, 431 7,000 89
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Lr—o7y it 26,085 5, 600 3b 6 400 15 15 20,08 65 2
V2 A % R 8,850 1,750 10 6 400 80 53 6, 700 120 36
Y EDtn) &ith 66, 584 14, 650 420 18 890 150 47 51,04 750 38
©HE & 2,187,063 921,897 0 0 209,423 0 0 1,449, 743 0 0
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FUTANHES & (# 5 (& 0 (G2 :OF':D (G2 :OF‘:D 5 (S.ﬁ-filn m (S.ﬁ-%ln m 0 (G2 :OF‘:D (G2 :OF':D
AA—hrE— KR 90 0 0 0 90 2% 2% 0 0 0
TOMDIKE it 0 0 0 0 0 160 0 0 0 0
TUITL =i 0 0 0 0 0 120 0 0 0 0
P VI =i 0 0 0 0 0 40 0 0 0 0
ZOMIE it 0 0 0 0 0 20 0 0 0 0
B EDHn) =i 4- 0 0 0 4- 1,300 1,300 0 0 0
©He & 4 0 0 0 4 0 0 0 0 0
UBAZOlE . €2 0 €2 i (ﬂﬁ—f%m M (S.ﬁ-ﬁ'ém M 0 (G2 ; M G ; M 0 (G2 :OF‘:D (G2 :OF':D
HLT G RER 8 4 2,500 1,650 0 0 0 4 800 100
IrL/ G RENR 985 539 16,000 3%/ %9 13,800 5,932 387 24,000 1,340
D =l ) R 21 223 3,760 1,483 0 0 0 3 6, 500 3,24
TR @) IR 128 114 1,700 412 0 0 0 14 3,000 1,285
T G IR 6 0 0 0 0 0 0 6 1,200 1,200
AV NG IRERIR 4 4 1,200 1,000 0 0 0 0 0 0
B ==& 1,170 300 6,150 908 24 6, 500 899 616 1,000 532
g AT 1 6 6,000 2,260 0 0 0 1 3,500 3,500
YIRT PR IR 986 421 1,50 187 100 5,000 520 459 2,000 310
S G IR A 4 900 800 0 1,400 41 0 0 0
. 2EE b 218 102 2,000 450 8 160 54 38 4,000 960
TOMAERE G #HRR ol 211 1,380 265 214 9,000 481 86 3,000 38
HLILY G AR 2 2 20 20 0 0 0 0 0 0
AP0 ISR 380 296 200 127 0 0 0 &4 210 174
TOAEHE R 3,045 1,83% 1,260 290 199 1,350 44 1,011 1,350 316
ITAY FIR 163 o 990 151 0 0 0 64 600 208
TOMBMRE Gy =FR 1,34 538 160 151 536 330 238 210 1,600 313
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Fa-l)y7 EN=I 683 120 105 530 24 850 850 oM 1,000 24
TOMEESE G #HAR 140 140 8 81 0 0 0 0 0 0
7 LM SRR 4,025 2,206 300 104 48 900 893 1,712 20 &4
~NO=74 FIR 316 210 860 474 12 800 593 X 100 240
Y FHALE 10, 760 5, %6 180 37 1,616 185 104 3,188 230 0
TOMDERIARL k% % 49 0 0 0 48 30 30 1 4,950 4,90
G =D 25,906 13,970 0 0 3,258 0 0 8,671 0 0



K2A210R> PAE 1

I I I | I a4 1 A2 BB ) A 9

o mEE ETE® s ¥ Y | 1BE | CHIOBEBIERG RS

| | | WUE & @B v W GUMR B 4 @ MR @ ¢

| | | | | | | | |
# % AR Twen  Bao T Y T T A 1 T T A
AT IR 209,400 3,110 68 19 39,700 100 % 134,590 110 4
N AR 156, 922 26,210 % 12 38,392 180 A 92,320 140 23

Bty IR 2,170 4,52% 100 90 680 115 0 14, 965 170 80
AN IR 69,520 1,8% 180 %8 210 160 ) 61,425 400 92
o RIL—== EHER 21,850 1,358 210 8 o71 22 92 19,915 385 X
=3y HEE 163, 876 28,519 102 2] 4,996 &0 43 130, 361 150 37
—— RTL— Bty 74, 860 1,215 o1 A 2,250 &0 o7 65, 3% 130 42
AT A)HBE EER 46,978 11,065 962 139 150 350 211 3, 763 1,100 26
e FERER 814 2,318 150 63 400 130 108 5,936 20 106
BLES BER 6,530 2,640 20 n 350 120 % 3,540 150 9%
TOMDES EHIR 25 30 135 135 0 0 0 245 300 163
TLAROA)T7  EHR 45,210 8,580 120 A 5,340 210 100 31,350 200 n
BRNAS HERLR 36,475 3,000 21 9% 0 31 0 33,38 20 69
MLAEE EHIR 26, 206 210 228 17 530 20 187 25,406 450 218
ARI—FA FERLE 92,083 19,730 20 2% 650 65 60 11,708 500 3b
Ay =i 38,998 2,50 100 53 0 0 0 36,478 160 n
S FHEIR 71,048 5210 20 31 1,450 125 3 58,328 130 3
ho— TR 5, 145 20 14 81 1,050 130 n 4,475 20 109
<Ly b FIE 4,810 300 30 30 90 30 30 4,50 120 46
AA—hrE— =1 146, 159 11,860 162 32 2,110 20 90 132,189 350 4
TARZ— R 3,110 300 % 2 0 0 0 2,810 185 &
37 FERLR 1,630 100 & 2 0 0 0 1,50 230 62
FTLS it 3,190 990 45 2] 0 2% 0 2,20 & 39
)T =1 6,671 53 23% 130 IS 250 181 5, 841 450 145
TIVIA =L FIR 1,204 04 180 100 0 0 0 7,000 350 147
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| | | | | | |
@& @& @ P Erm @R @R G
ORXER =58 2 600 5 26 26 50- 4 45 2 600 65 43
gayAy =311 2720 130 162 116 10- 300 300 2 600 330 242
V) ERA— EEREE 17,550 100 40 40 800 65 49 16, 650 0 LA
L—RI5— TF=EE 6, 220 0 0 0 60 100 & 6,160 160 5
Fa—1)vS Hag 53, 965 8 380 140 54 7,100 120 51 38,485 220 73
2V)—=7 KT 16,285 2 360 80 45 2,400 i) 48 11,525 80 5
TAIR b 4 575 150 0 61 0 0 0 4 425 100 4]
7K A HE 9,253 1,600 55 38 0 0 0 7 653 120 5
DSIASA RS 8 995 0 0 0 880 150 127 8 115 180 123
B SE3 EEE 1,230 200 40 36 0 0 0 1,030 0 4
ZDIDIRHE Rith 160, 561 2 437 1,500 38 2912 550 4 135,212 3,500 69
T EEI=TI=Y 3,949 1,306 600 258 0 0 0 2 643 1,200 34
FI7L £ith 43,360 8730 1 2 3,200 b 30 31,430 400 40
[3 5] Rith 7434 1,569 1,200 262 0 0 0 5, 865 1,400 577
PN £ith 21,160 4,890 240 51 560 350 86 15,710 650 13
ZOMhIREE Fih 4708 968 258 116 0 102 0 3,740 700 163
JAILKE F £ith 6, 501 1,413 620 78 0 150 0 5,088 1,600 110
it == 1,320 250 70 48 100 200 200 970 350 1%
i ) £ ) G- GG/ /) GG/ G- GG/
FikE i 13,133 821 510 135 520 1,300 218 11,786 10,000 88
] €] @GP EEL:P @GP EEL:P @GP GER:P
¥¥E Fih 3274 2 520 40 18 14 4 000 125 650 106 46
R G- G M G G/ P G/
ok 5 = 18,814 8, 690 840 41 810 200 124 9 314 1,000 138
™= Rith 30, 131 4,699 6, 500 53 6 8,500 7 416 25, 426 14, 500 4
¥ i = 1,3% 4] 3,350 409 100 200 200 1,248 7 500 293
i @y @y G &/ G- &/ P G/
EEHE =RIS 6,275 2.19% 840 76 0 0 0 4079 1,000 106
_TFEY R 11,860 1,8%0 120 55 0 0 0 10,010 400 151
Fify HHE 2 000 0 0 0 0 0 0 2,000 150 150
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B4 Eofthn) &ith 100, 463 16,539 1,20 83 5,348 1,400 185 18,516 1,000 97
L—o7y it 29,300 8,140 2% 9 0 10 0 21,160 80 2]
TLUY AR 8,430 0 0 0 500 IS 52 1,930 120 37
Y EDitn) &ith 82,101 12,140 400 17 830 150 61 69, 131 650 42
©HE & 2,113,010 315,815 0 0 221,690 0 0 1,635, 565 0 0
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I o @, @ emm e ,  WLR e L LR e
HLT G FIR 18 6 1,000 1,000 0 0 0 12 2,800 966
J7L/ ) RENR 838 364 15,000 4,390 % 17,400 3,613 418 42,000 1,042
TUE G =31 153 140 3,600 1,085 0 0 0 13 6, 500 1,561
T RO G RELIR 46 A 1,200 976 0 0 0 12 900 70
Ty @D FIR 7 0 0 0 6 2,000 2,000 1 5,000 5,000
AV NG RENR 8 0 0 0 8 4,500 4,500 0 0 0
B R 2,336 1,068 4,700 193 301 16, 500 819 911 15,000 121
HIRT PR FIR 1,067 676 880 128 YA] 960 758 358 3,000 391
= G IR 40 0 0 0 40 430 430 0 0 0
. BREE R 47 m 800 320 198 480 480 102 160 906
TOMAERE G AR 615 404 2,100 246 110 3,800 693 101 6,000 1,328
HLILY G IR 90 2 20 220 0 0 0 30 350 350
A7) IR 380 2600 200 116 0 0 0 120 350 218
TOAEATE R 2,815 1, 7% 1,000 271 401 800 216 620 1,350 3/
OTAY ISR 921 173 645 152 0 0 0 148 1,200 24
TOMEMREE G IR 985 9 380 157 120 350 320 136 330 22

Fa)y7 EN=I 141 420 1,320 27 0 0 0 321 2,100 211
TOMEEE G #HAR 196 19 IS IS 0 0 0 0 0 0

7 LM EN=I 3,700 2,769 280 8 30- 900 1%~ %1 500 107
AJ=74E FIR 20 160 820 414 64 510 415 66 1,000 5907
=Y FEALR 10,019 6,947 162 43 576 330 28 2,8% 330 8

G D 25,73 16, 543 0 0 1,813 0 0 1,319 0 0
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: : : | : w4 % | B3 A (AR ) 9 e

o mEE ETE® s ¥ Y | 1BE | CHIOBEBIERG RS

| | | WUE & @B v W GUMR B 4 @ MR @ ¢

| | | | | | | | |
# % AR Peoo o T T T T A L T BT
AT IR 141,490 22,850 66 19 28,710 20 % 89,930 110 36
N AR 96, 063 16,020 100 14 27,993 200 36 52,040 140 2%

Bty IR 14,15 4,025 114 83 940 125 92 9,590 170 8
AN IR 90, 752 5,165 180 I8 0 240 0 45,581 20 92
T RIL—3= EIR 19, 531 393 m o1 940 10 9% 15,048 400 91
=3y HEE 97,0% 17,03 120 2 3,300 IS 4 16,760 190 40
—— RTL— EIR 36, 750 530 IS % 2,140 & 69 34,080 & 45
AUVIAIHBE ERIR 24,993 4,460 424 165 5 330 436- 2,528 1,000 212
e FERER 9,360 1,760 150 84 0 0 0 3,600 200 102
BLES BER 2,600 20 100 9% 0 0 0 2,35 115 “
TOMDES =R 150 0 0 0 0 0 0 150 180 172
TLAOA)T  RER 30,110 4,060 190 &0 2,680 140 o1 23,380 180 8
BRNAS HERLE 2,511 986 180 104 0 0 0 19,925 20 3
MRS it 16,280 810 360 243 1,210 20 206 14,260 450 245
ARI—FA FERLE 99, 795 9,69% 280 39 1,440 0 90 48,620 550 37
Ay AR 26,022 480 120 120 100 % 92 25,442 160 %0
S FHE 51,43 4,110 &4 3 6, 350 100 39 40,975 130 3
ho— IR 4,628 180 IS 66 20 130 123 4,358 20 X
<Ly b FHIE 1,350 0 0 0 0 0 0 1,350 120 %
AA—hrE— =1 121,036 23,18 162 2] 11,300 &0 67 86, 551 350 40
TARZ— R 2,43% 365 120 40 100 100 20 1,970 185 I
37 LR 3,400 0 0 0 0 0 0 3,400 230 n
FTLS it 1,460 940 40 31 0 0 0 920 90 32
)T =1 6, 300 1,640 200 115 IS 20 174 4,58 450 157
TIVIA =L FIR 6,684 520 20 53 0 0 0 6,164 350 15
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| | | | 2024&1)51315(7}?&5)%95%%
| | | | |
| m B 4 ¥ E i EFE 13 U| | FEEGS | (%?’]FWS(‘? [Z55<) | ﬁ%ﬁ(‘ﬁﬁl
| I— | | = — | | = L
| | | EFE B E | F{E | EFE = [E | F{E | EFE = E F{E |
| | | | | | |
@& @& @R @rP @) @ e
ORXER =58 400 0 0 0 0 0 0 400 5 29
gayAy =311 1,980 0 0 0 0 0 0 1,980 400 242
V) ERA— FERES 10,980 1,010 5 5 0 0 0 9,970 & 43
L—RI5— TF=EE 3,745 505 63 48 400 60 5 2 840 120 51
Fa—1)vS Hag 31,960 4 630 120 63 1,240 160 LA 26,090 250 69
2V)—=7 NFF 6, 715 900 60 46 1,400 65 5 4 415 80 5
TAIR b 3,510 0 60 46 0 0 0 3,420 110 51
7K A HE 4504 960 IS) 4 0 0 0 3 54 100 46
DSIASA RS 4 860 0 0 0 360 140 125 4 500 180 123
B SE3 HHE 200 0 0 0 0 0 0 200 40 37
ZDIDIRHE Rith 106, 483 25, 531 2 200 A 2530 600 16 18,422 5,680 60
T EEI=TI=Y 1,662 514 510 213 0 330 0 1,148 700 362
FI7L £ith 35,375 4 310 120 B 1,800 b 28 29, 265 300 38
[3 5] Rith 5, 081 1,004 500 330 0 0 0 4 07] 1,400 583
I £ith 12,250 630 230 76 40 350 235 11,580 600 101
ZOMhIREE ith 3,155 530 300 67 0 0 0 2 625 550 132
JAILE F £ith 1,626 380 300 76 40 220 181 1,206 1,200 108
Piti==7)] == 1,290 506 100 68 25~ 210 210 810 220 14
i <) £) 6P GEL:P @GP GEL:P @GP EER:P
FikE Fih 10, 946 450 162 124 425 230 74 10,071 13,000 L)
‘ @ G G/ G G/ G G/
¥¥E Fih 1,011 0 0 0 1 4 000 1,433 1,000 40 5
R G G/ G G/ G G/
ok 48 8 412 1,465 700 81 200 125 98 6, 747 1,000 142
™= Rith 25,897 6,615 6, 000 36 0 0 0 19, 282 13,500 40
¥ 217 =3 814 23 2 560 320 12 1,35H 323 679 3,500 206
i @y Z. GR:P &/ G- G/ BB G/
EEHE KT 15 0 0 0 0 0 0 175 140 140
_TFEY R 3,520 0 230 168 0 0 0 3,430 320 125
Fify HHE 2 000 0 0 0 0 0 0 2,000 150 150
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| | | | | X4 1 A3 B (AGEE ) 9 BEE

; SE& IEH HPME # Y | BRG] RIBEGRRO FEHE|

| | | C EPME % @ h {5 HeE B B HE & M i

| | Cw® R sem P I @R @
B4 Eofthn) &ith 48,221 9,453 1,000 39 1,800 1,400 218 36,974 2,500 71
L—o7y it 15,930 480 6 5 0 18 0 15,450 % 2%
TLUY AR 4,30 0 0 0 300 80 68 4,020 120 b
Y EDitn) BTrD 99,014 8,965 380 2 4,960 1,008 64 45,089 100 32
©HE & 1,421,381 201,339 0 0 192, 786 0 0 1,027,262 0 0
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